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[ € Explanation video in English | Class=11 | 3 # vz HRar 3

Venn diag;am

AUB= A+B - ANB
AuBUC = [A+B+C] - [AnB+BNC+ANC] + [AnBNC]
AUBUC = Exactly_1 + Exactly_2 + Exactly_3

AUB = A+B - AnNnB

@O0

AUBUC = (Exactly 1) + (Exactly 2) + (Exactly 3)

only A only A,B AB,C
only B only B,C
only C only A,C
AUBUC = [A+B+C] - [AnB+BNC+ANC] + [ANBNC]

Y &y

AnB = onlyA,B + AB,C BNnC = onlyB,C + A,B,C ANC = only A,C + AB,C

Practice question
There are 26 students in a class.
Cricket is played by A,B,C,D,E,F,G,H,l,J 10 8

2

Hockey is played by H,1,J,K,L,M,N,O
How many students:  (a) Play only cricket
(b) Play only hockey  (c) Play both sports

(d) Play some sport (e) Play nothing EA BCDEFGHTI J| ]

Te T ¥ 26 RrEmeif ¥ 1 [HI JKLMNO|

fremeit A, B, C, D, E, F, G, H, I, J fFhe e & |

feremeffH, 1, J, K, L, M, N, O Eihr Qe 2 | Only Cricket | X -common 10-3 = 7
fepa BT (a) Fael fFde Aol & Cricket (X) =10 | Only Hockey |Y - common 8-3=5
(b) PacT EAT Weld & (c) ST Wl Werd & Hockey (Y)=8 |Somesport |[X+Y-common | 10+8-3=15
(d) PO TTATE (e) IO T8 Werd & Common =3 Play nothing | All - some sport 26-15= 11

Separate explanation videos are available in English & Hindi | 37asft 3ilx &Y & 3rerer-arerer AfAY 3qerstr §
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https://youtu.be/7v53VhHTPRo
https://youtu.be/daPK9k6tMJE
https://youtu.be/daPK9k6tMJE
https://youtu.be/7v53VhHTPRo

2018 Q-42 [set-A] Set theory
19 boys turn out for playing hockey. Of these, 11 are wearing hockey shirts and
14 are wearing hockey pants. There are no boys without shirts and pants. What
is the number of boys wearing full uniform? (a)3 (b)5 (c)6 (d)8

Y Yot & T 19 e g § S & 1 & f e ue g7 § o) 14
Wﬁﬂt%ﬁﬂﬁwﬁmﬁwaﬁ%mﬁﬁﬂsﬁwmﬂt?qﬁ
ﬁlqﬁaﬁwﬁrma‘%ﬂww%? (@3 ()5 (c)6 (d)8

SuUP
19

S+ P -SnP

11 + 14 - SNP

SNP =6

2015 Q-36 [set-A] Set theory
Out of 130 students appearing in an examination, 62 failed in English, 52 failed

in Mathematics, whereas 24 failed in both English and Mathematics. The
number of students who passed finally is (a)40 (b) 50 (c)55 (d)60

Tep aRrer ¥ enfrer 130 frenRiAY 7 W, 62 fremeff sirsht # srg<iivi gy, 52 fremeff
wﬁﬁﬁaﬂ?ﬁﬁgq,wﬁ?uﬁawﬁmaﬁ?wﬁﬁaﬁﬁﬁmﬁﬁww
U I BRY arer Rrenft &Y v a7 &2 (a)40 (b) 50 (c)55 (d)60

130

52

EUM
EUM

E+M -ENM
62 + 52 -24

EUM = 90
130-90= 40

2014 Q-19 [set-A] Set theory
There are 50 students admitted to a nursery class. Some students can speak only
English and some can speak only Hindi. 10 students can speak both English and
Hindi. If the number of students who can speak English is 21, then how many
students can speak Hindi, how many can speak only Hindi and how many can
speak only English? (a) 21, 11 and 29 respectively (b) 28, 18 and 22 respectively
(c) 37, 27 and 13 respectively  (d) 39, 29 and 11 respectively

Tep TSt e A 50 REnRiAT o1 garer R mar | $o fremeff e sEioT dier w@wT

21

EUH
50

E

+ H - ENnH

21 + H - 10

H =39

2 ok PO Faer et aver wamT & 1 10 fremeff oIt ofk et ST arer W &
Ife I frenfRfat Y dwr, S 3ol aier wad €, 21 &, A feaey faemeff =St

Only Hindi

= H-ENnH
=39-10 = 29

(a) PHeT: 21, 11 3R 29 (b) THeT: 28, 18 3R 22
(c) 9T 37, 27 3R 13 (d) ST 39, 29 3R 11

Only English =

E-EnH
=21-10 =

2019 Q-52 [set-A] Set theory
In a group of 15 people; 7 can read French, 8 can read
English while 3 of them can read neither of these two
languages. The number of people who can read exactly
one languageis (a)10 (b)9 (c)5 (d)4

it s & 15 afw © iRy e ug wa &, 8 3iieT FUE = F+E-FNE
UG W &, STafep 3 3 QT WTuTeh F ¥ 31 off 9T 8 ug 12 = 7+8 -FnE

[P | foram afeh Temefd: v 91T g e 82 FNE = 3

FUE = 15-3

(@10 (b)9 (c)5 (d)4 Exactly one language = (7-3) +(8-3) = 445 = 9

2019 Q-31 [set-A] Set theory
All members of a club went to Mumbai and stayed in a hotel. On the first day, 80%
went for shopping and 50% went for sightseeing, whereas 10% took rest in the
hotel. Which of the following conclusion(s) can be drawn from the above data?
1. 40% members went for shopping as well as sightseeing.
2. 20% members went for only shopping.
Select the correct answer using the code given below:
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2
‘ 4ec,@
o

forelt oot & it WeR TS Y 3fR U BIeet 5 Wb | ugel T 80% WRISRT & fAg
T 3R 50% Wi % BT U, Al 10% T gieet ¥ fsm feam IuYH 3Tt 9,
fraferRaa AR —aTRY forse fretert/ fieTer ST WehaTRTAT 382

1. 40% TSI WRIERT P AT e $ fog off

2. 20% WS hdel WIGRT & feg 1y

e Y T Fe BT TAT PR FE IR G4

(@)ae1  (b)PAT2 () 13R22MF  (d)Tar1, siRAE2

A = 80%
B = 50%
C=10%
AUB =

90
ANB =

shopping
sightseeing
= rest

A + B -AnB
80+50-AnB
40%

Separate explanation videos are available in English & Hindi | 37asft 3ilx &Y & 3rerer-arerer AfAY 3qerstr §
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2015 Q-31 [set-A] Set theory

In a town, 45% population read magazine A, 55% read
magazine B, 40% read magazine C, 30% read magazines A
and B, 15% read magazines B and C, 25% read magazines A
and C; and 10% read all the three magazines. What
percentage do not read any magazine?

oY TR ®, 45% AT 93BT A U &, 55% AT 3T
B UG &, 40% SRT UFHT C Uad &, 30% <IRT i3t A
3R B Ued &, 15% @I uf3iar B 3R C ued &, 25%
T 9f¥eT A 3R C ued §; 3R 10% oRT Wit At
gf3reTd e &1 fpa=r wferera o @IS ufreT &) uaa?

(@)10% (b)15%  (c)20%  (d)25% (a) 10% (b) 15% (c) 20% (d) 25%
AUBUC = [A+B+C] - [AnB+BNC+ANC] +[ANBNC]
AUBUC = [45+55+40] - [30+15+25] + 10
AUBUC = 80
100-80=20

2014 Q-24 [set-A] Set theory

Out of a total of 120 musicians in a club, 5% can play all the three
instruments, guitar, violin and flute. It so happens that the
number of musicians who can play any two and only two of the
above instruments is 30. The number of musicians who can play
the guitar alone is 40. What is the total number of those who can
play violin alone or flute alone? (a)45 (b)44 (c)38 (d)30

Teh eI b Pt 120 Wil 3 A 5% Fer, awfer sk aikg, 4
aTET 9T W & | Iueh arelt H | PIS & R Paer aF arer qolr
HH aTer Wiiesil 6t TEAT 30 & | S WSt Bat ReR aoiT Add
&, 740 & | W Wi B FoT FEAT ALY A Ha IRATAT Tl
T[T & AT PacT SRR TN AHA & | (a) 45 (b) 44 (c) 38 (d) 30

AUBUC = (exactly 1) + (exactly 2) + (exactly 3)

120 = (exactly1) +30+6
84 = (exactly 1)
84 = 40 +only B +only C
44 = onlyB+onlyC

2023 Q-58 [set-A] Set theory

In a party, 75 persons took tea, 60 persons took coffee
and 15 persons took both tea and coffee. No one taking
milk takes tea. Each person takes at least one drink.
Question: How many persons attended the party?
Statement-1: 50 persons took milk.

Statement-2: Number of persons who attended the party
is five times the number of persons who took milk only.
Which one of the following is correct in respect of the
above Question and the Statements?

(a) The Question can be answered by using one of the
Statements alone, but cannot be answered using the
other Statement alone.

The Question can be answered by using either
Statement alone.

The Question can be answered by using both the
Statements together, but cannot be answered using
either Statement alone.

The Question cannot be answered even by using
both the Statements together.

(b)
(c)

(d)

foredY thiferiist &, 75 cafwral = o oY, 60 cafwal ¥ dihr off
3R 15 @feral ¥ = 3R BT A1 <t | gY o arer A
feh ¥ A & ot | UAP Afh ¥ PH-N-BT T Uy ueref
foram | sen: SiRniier & fepamr cafes SuferT g9? ®oM-1: 50
wﬁﬁa’fﬁra‘;‘aml Fo-2: M & SufkerT 89 arer
o %ajgmqarsﬁw;ﬁw&#ﬁmﬁmaﬁaﬁqmw
HE 87

(a) 3N UH BTSN, ST ¥ A A b B BT 31dper STANT
PR T ST AT 8, Fop SRIN T T 31t SN AR
fer ST |war|

39 U BT SN, ST 9 F T off U P #r 3rder
ITANT PR AT ST AR |

S Y T IR, Q1 AT BT Teb AT SUANT B AT ST
[HaT &, R a1 § A 5l U BT T et ST
PR TN T ST HepeT |

S T BT SR, ST BT BT Y W SUANT Heeh ot T8
fr SrHEar

(b)
(c)

(d)

Tea=75 Coffee =60

Coffee

e

Tea Tea

TuC = 75+60-15
= 120

Those who take milk only = x
Coffee
Total people at party = 120 + x

5x = 120+ x

x = 30

Answer is (a) according to All Inclusive IAS. Official answer key not yet released.

Separate explanation videos are available in English & Hindi
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2015 Q-37 [set-A] Set theory

In a group of persons travelling in a bus, 6 persons can
speak Tamil, 15 can speak Hindi and 6 can speak Gujarati.
In that group none can speak any other language. If 2
persons in the group can speak two languages only and
one person can speak all the three languages, then how
many persons are there in the group?

Tt 997 3 AT R ATer AT T TR H, 6 Sfh
afirer SYer wad &, 15 afh <) aYer waa & 3R 6
cafts oI atel Wl &1 IW g ¥ Y off e g
3 {TST T8I dlel WepdlTl AT S e & 2 Afeh et
3 YTY ST et & 31X Tap afeh Y =T s arer
[T &, T4 30 e H Pt fpa 2afeh &2

(@21 (b)22 ()23 (d)24 (@21 (b)22 (c)23 (d)24
Method-1 AUBUC = exactly1 + exactly2 + exactly 3
= [3+12+5] +2 +1
= 23
“Assumption
Method-2 TUHUG = T+H+G - [TNnH+HNG +TNG] + TNHNG
TUHUG = 641546 - [TNPH+HNG+TnNG] + 1 =27-5+1 =23
(only T,H) + (T,H,G) (only H,G) + (T,H,G) (only T,G) + (T,H,G)

(only T,H) + (only H G) + (onIyT G) + 3(T,H,G)

2016 Q-11 [set-A] Set theory

There were 50 faculty members comprising 30 males and
the rest females. No male faculty member knew music, but
many of the female faculty members did. The Head of the
institution invited six faculty members to a tea party by
draw of lots. At the party it was discovered that no
member knew music. The conclusion is that:

(a) the party comprised male faculty members only

(b) the party comprised only those female faculty

members who could not give renderings in music
(c) the party comprised both male and female faculty

Tpra-aewd o, T 30 gow @I A Reat ofi a8

%ﬂwwwwﬁaﬂﬁﬁrﬁmm «ifpT 3me

S HBRI- TERET B A BT BT o I AT

& IreYET 7 AT FRT B: WHRI-ST P AI-UTET U

frifsra foram | Ot & 9T I uar g B B off

[T W T8 Sirvar 21 forse fraerar & fe

(a) UTETH AT TOY WhII-0T & Al

(b) UTST & et IE W Aoprg-AeTS wRAf off
St T IR 8T R bt 2l

(c) UTET ¥ ARufeT Hora-veRT qey e & @t A

(d) oIS ¥ RFT-wEISE ¥ AR ¥ Po & BEr o

Ans: (d)

members
(d) nothing can be said about the gender composition of
the party HpdTl
30 males < > 20 females
(N J
4 . .
Don’t know music Knows music

Separate explanation videos are available in English & Hindi
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2019 Q-32 [set-A] Set theory

In a school, 60% students play cricket. A student who does
not play cricket, plays football. Every football player has got
a two-wheeler. Which of the following conclusions cannot
be drawn from the above data?

1. 60% of the students do not have two-wheelers.

2. Nocricketer has a two-wheeler.

3. Cricket players do not play football.

Select the correct answer using the code given below:
(a)1and 2only (b)2and 3 only (c)1and3only(d)1,2and 3

femsit ferermer o, 60% fremeif fibbe @Werar & 1 oY foremmeST fepehe
TET WeldT &, I8 PedTer WeldT ¢ | &R BedTe RISt & Uy b
QrafeaT aTeT &1 Swith aifmer & RreriRad F & -y fsed
& RroTer o W 57

1. 60% feremRiat & g SrufEr arga 7 &1

2. fRet oft Rrthe RaerSt & urey SrufaT are 78t 81

3. frdre RaaTSl pearar 78l Wi € |
:ﬁ%ﬁqwaﬁmmmﬂé’rwaﬁq

(a) T 1 3R 2 (b) HaeT 2 3R 3 (c) PaeT1 3R 3 (d) 1,2 3R 3

60 % Studelﬂts 40 % Studentﬁ
They play cricket They don’t play cricket
< no info about football > They play football
< no info about 2-wheeler > They have 2-wheeler
 fipche Worel & q fopcpe 7T Qe

BT $ IR H PIS TSGR T8 | T Peared Werd &
28R H IR H BIE TS 8T | S U 2-EeR B

None of the conclusion (1, 2, 3) can be drawn.
Hence, (d) is the answer.

B Y Forsapy (1, 2, 3) & FrTeT T AAHaT 81
3 (d) STREN

Practice question

Out of 12 chairs, 7 are occupied by males. You are asked to
give 8 sweets. How will you distribute the sweets such that:
(a) Maximum males get the sweets ? (7)

(b) Minimum males get the sweets ? (3)

What will be the answers if there are 6 sweets? (6,1)

- o g i s

12 PRI H A7 RIBT IS | 3uer 8 frarsar &
PYHRTTATE | 3T RraTear e Riafe =nY arfs -
(a) 3rfrer gest @1 TS fret 2 (7)
(b)mﬁasqwqﬁﬁﬁms‘ﬁﬁv(s)
amsﬁazméa}mmgﬁnv(a 1)

weimm > § &5 &7 £ 547 7 4

£ EE T E < mnim

2013 Q-63 [set-A] Set theory

Out of 120 applications for a post, 70 are male and 80 have
a driver’s licence. What is the ratio between the minimum
to maximum number of males having driver’s licence?
(a)1to2 (b)2to 3 (c)3to7 (d)5to7

foRft ug & frg 120 ST A W70 gHW § SR 80 F
o SIS aTsRw B SsfiT AW 9y gest @
Sifrercr iR =g WA & e T SIUTT SIT?

(@Q)2W1PT (b)3W2HT (c) 7A3HT (d) 75T

120 applicants

70 are males

Max males [0 have license
have license

(70) 80 have license |hMa’|’,'e"l7’.‘c’gfse (30)
2019 Q-20 [set-A]| Set theory Tt =T &, et 100 SRMIFRIT 3 70 wRela € 1 3%

In a conference, out of a total 100 participants, 70 are Wﬂﬁﬁﬂﬁﬂﬁﬁﬁw ATPTERT &, AT frrmfafaa & 9 Biv-
Indians. If 60 of the total participants are vegetarian, AR o T B2

then which of the following statements is/are correct? 1. PH-A-BT 30 YRAT TFTUTT emepre & |
1. Atleast 30 Indian participants are vegetarian. 2.  PII-PT 10 YR TRIRY TRamert & |
2. Atleast 10 Indian participants are non-vegetarian. rar g T e BT SRIFT R [ SR 1Y
Select the correct answer using the codes given below: (a) PaeT 1 (b) P 2
(a) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2 (c) 1 3R 2 =Y (d)Tar1, 3iRT&r2
100 people |
70 Indians
Max Indians .
are veg (60) | 60 vegetarians |

60 vegetarians | Minimum Indians

are veg (30)

Separate explanation videos are available in English & Hindi
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2021 Q-35 [set-A] Set theory

In a group of 120 persons, 80 are Indians and rest are
foreigners. Further, 70 persons in the group can speak
English. The number of Indians who can speak English is

120 el % WE ¥, 80 WRY & ofR O feft & | 595
arferfep, svwﬁrm—zrﬁsaﬂvﬁahamﬁ%l&ﬁ
TR Y AT Reart & ot st et W E2

(@)20 (b)30 (c)303ATIHA BT (d) 30 AT ITA AP

Min Indians

(a)20 (b)30 (c)30o0rless (d)30ormore
120 people |
80 Indians
Max Indi -
h O"S;ggf(l 70 speak English |
English (70) [

70 speak English | who speak

English (30)

2021 Q-46 [set-A] Set theory

Half of the villagers of a certain village have their own
houses. One-fifth of the villagers cultivate paddy. One-
third of the villagers are literate. Four-fifth of the villagers
are under 25 years of age. Which one of the following
statements is certainly correct?

a) All the villagers who have their own houses are literate
b) Some villagers under 25 years of age are literate

c) Only half of the villagers who cultivate paddy are literate
d) No villager under 25 years of age has his own house

T I & AT AT & 319 BR & | 1/5 TTaRiT €=

Y T BT & | 1/3 TR AR ¥ | 4/5 I HY

31y 25 a¥ & & g Frrafafad oAt § & si-ar e

®Y A HE 8?2

(a) Wit IR A1eR &, 6 IR S ER 8l

(b) 25 T 3 PHH Y dATel FO ATTARI ATER

() 3parcT SIS TTHATAT WIER ¥ ST &7 Y et ey &

(d) 25 9 F P AR aTer fopvAT o TTATRIT & AT SO
R 7TET 8l

[ Total

|50% - own house

20% - paddy

[33.33% - literate

[80% - under 25 age

Separate explanation videos are available in English & Hindi
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